
 

grad 92 g
D VC 2,8

7,7 grad UV f Ig I
Wl 3 1

grad Vw
Io

gradUW 8 I
of

grad Uv x grad uw 4 x f I

j UV and Uw are 1

right angle at u

f 2,81

van one.it
i
tvw

f II 1
w
C 3 l 2,3

radius OV

tf f Tai

Circle is x 2 t y 35 41

Exercise 6F



2 A 2,6 grad AB fB 5,7
8 z 9rad Be Is 3

I x 3 l 1

right angle at B so AE is a diameter

angle in a semi circle 900

Centre 0 2 GII
c 8 z 5,2

Radius OA

5 2 21 2 6

IF 5

Circle Eqn x 5 t y 2
2 52

3 A 3,19 At
B 9 11

15,1 e B 9,11
M 321 19

M 3 15

sradars I a I
grad of E 1 Iz



E y g mca xD
y 15 x 3

2g 30 3 9
l 21 3 2 y

ii fine 1 bisector of AC AC 3,19

C 1511 lez

Nf
gradacs IN 9 10 3 15 12

Zz

grad of lz

Ez y y m x x

y lo 3 x 9

3g 30 2 sets

3g 30 2x 18

Ez 2x 3g 12

Jsc 2g 21

2 i t 3g 12

O



X3 9k Gg 63
2 42 t Gy za

132 39
x 3913

x 3

Sub for in

263 t 3g 12

G t 3g 12

3g 18

y 6

Centre f 3,6

Radius B to centre

J t6 2

74425
116 9

Circle x 135 g 65 132

Hwk Mixed Exercise 6 Q l 2 3


